BARRETT 2050
Advanced HF SSB Transceiver

BCA20020 Four Unit Side Plate Kit

Qty. | Description Barrett P/N
2 2000 series 4 unit side plates MW-20072
16 Side plate capstans PW-20073

scm20020m0 rn————————-———-—————-—+4——4—-



Mount the FI-07631 filter on the regulator frame itself as indicted in Fig. 2,
cleaning away any paint or scale so as to assure a good electrical contact to the
filter case. Where each of the wires from the regulator except the field wire
passes near the filter, strip the insulation from 10mm or so and secure the wire to
afilterterminal screw.

Field wire - the wire connecting the alternator or generator field to the regulator
should not be connected to a filter as above. Shielded wire may be substituted
for a single conductor, grounding the shield at both ends. Alternatively, a second
wire can act as a shield if it is twisted around the field wire (perhaps one turn per
25mm) and grounded at both ends.

INTERFERENCE SUPPRESSION KIT CONTAINS:

ITEM QTY | DESCRIPTION BARRETT P/N
1 1 Noise Filter FI-07630 FI1-07630

2 1 Noise Filter FI-07631 FI-07631

3 1 Earth Strap PO-07633

4 im Earth Cable CA-06518

5 4 8mm Terminal Lugs CN-07640

6 4 10mm Terminal Lugs CN-07641

7 4 Capacitors CP-01515

8 1 Suppressor NB-04563

9 1 Clamp NB-04565

BARRETT 2050
Advanced HF SSB Transceiver

BCA20008/BCA90017 Interference Suppression Kit

1.

General

Satisfactory suppression cannot be achieved if faults exist in the vehicle/vessel
to be suppressed. Cracked distributor caps, worn commutators or burnt contacts
may not yet be seriously degrading vehicle performance but will generate very
high radio frequency noise levels. Before attempting to suppress noise,
problems described above should be sought out and rectified.

Ignition Systems
Audible as a 'popping' noise - frequency varies with engine speed.
2.1 HighTension

High tension wiring should be of the impregnated neoprene type. Suppression
cables using graphite powder in a paper core are not reliable. If necessary
replace with a suitable set of suppression cables recommended for the vehicle.
All high tension wiring should be separated from any other wiring and should be
placed as close to the metal block of the motor as practical to reduce radiation of
any RF noise.

2.2 LowTension

Ensure that the wire from the distributor points to the ignition coil is as short as
possible and that it is not loomed together with any other cables. If the wire length
exceeds 200mm it should be replaced by a screened wire. This may be coaxial
cable with the shield connected to ground or simply consist of a twisted pair of
wires, one used for the distribution/coil connection and the other earthed at both
ends. Keep all wiring as short as possible.

In some cases the wiring from battery to coil may require suppression.
In this case use the FI-07630 noise filter supplied in this kit.

Battery Charging Systems

3.1 Alternator or generator

Audible as awhine - frequency dependant on engine speed.

Fit an FI-07630 noise filter as supplied in this kit in series with the main charging
output of the alternator. If a satisfactory earth point cannot be found on or
immediately adjacent to the alternator then the alternator/filter connection should be

screened as in section 2.2 above.

Generators are treated in the same way as alternators.

scm200084 —mmmm-—m—mo e rvovnno-r-n-n-rr-—umo—r-———————""-——+#—



3.2 Chargeregulator

Audible as a 'sizzling' noise above engine idle speed. The alternator/regulator
control (‘field') wire should be removed from any other wiring by replacing with
screened wire as in section 2.2 above. Capacitors should not be connected
between this wire and ground as they may damage the regulator.

Instrumentation

Some vehicles use thermal chopping regulators and/or sensors within their
instrument systems. These may be heard as a noise similar to the charge
regulator which starts 5 to 20 seconds after the engine is started. This can be
suppressed using capacitors on the supply side and screening on the
switched side of the device.

Accessories

Windscreen wipers, fans and all other electrical accessories should be
checked to ensure they do not contribute RF noise. They can be suppressed
using FI-07631 filters or capacitors and the installation method given in the
FI1-07631 application note.

Bonding

All metal objects on a vehicle/vessel should be bonded to one common earth
with reliable connections. Ensure that the body of a vehicle is connected to
chassis bypassing rubber mounts.

Heavy duty earth straps and copper braid are supplied for this purpose.

FI-07630 Alternator noise filter Application Notes

Alternators can produce substantial amounts of noise that interferes with HF
transceivers. The interference varies in pitch with engine speed, and it may be
readily distinguished from the rough buzz of normal petrol engine ignition noise.

The FI-07630 filter is specifically designed to control alternator or generator radio
frequency interference. It is a pi-type LC filter using self-fusing metalised-film
capacitors and solid epoxy incapsulation for reliable service in the severest auto
or marine environment. Itwill handle up to 60 amps continuously. Filters may be
paralleled to handle higher currents.

Installation

O =3| @ To Battery

0 FI-07630
Alternator
o O

Find a point on the alternator or within 200mm of it on the engine where
the filter can be mounted. Orientate the filter to allow access to its terminals after
itis mounted. Carefully clean any paint or scale around the mounting area so as
to assure good electrical contact between the filter case and the alternator case
orengine block. Mount thefilter.

Disconnect the negative terminal of the battery. Locate the heavy positive
(red) output lead from the alternator. Cut this wire where it runs near the filter.
Strip the insulation back by about 10mm, crimpand solder suitable ring lugs

and secure to the filter terminals. Reconnect the battery.
NOT WARRANTED OR FAA-EVALUATED FOR USE ONAIRCRAFT

F1-07631 Electrical accessory filter Application Notes

Noise from accessories such as small DC motors used for bait pumps, fuel
pumps, bilge pumps, windshield wipers, electric heads and the like can also
interfere with HF radio systems. These sources of the noise are easily identified
by turning the accessories involved on and off while listening to the HF
transceiver. The interference will sound much like the motor itself.

Motors - Fig. 1 shows the FI-07631 filter installed to suppress a small DC motor.
The filter base plate is mounted to the motor frame or mounting plate. Paint or
scale must be cleaned away in order to provide a good electrical contact between
the filter and the motor frame. Where the two motor wires (+ and -) pass near the
filter, carefully strip off about 10mm of the insulation and secure the bared wire
under a filter terminal screw. Be sure each wire runs from the motor to a filter
terminal and then continues from that filter terminal to the battery.

Voltage regulators - older mechanical type voltage regulator used with both
generators and alternators generates substantial radio interference. This type
usually has a removable sheet-metal case whereas the solid-state type is most
often encapsulated in a smaller metal case. The interference sounds like an
intermittent frying noise, and it will change in nature and severity as the battery is
brought to full charge.

Most of the new solid-state transistorised voltage regulators used with
alternators do not produce objectionable radio interference. The few that do are
treated the same as the mechanical types.

Installation

Fig. 1 Fig. 2

I 1 Shielded or

[e) O twisted wire e ——
Xe) FILO] s 9 Field
DC Motor AlLOT ——© Output
o FI-07631 Bl O
I (o] Q Alternator
To Voltage %, FI-07631
Battery Regulator Y

kN o0 To Battery




BARRETT 2050
Advanced HF SSB Transceiver

BCA91202 NVIS Kit

The Barrett Near Vertical Incidence Skywave (NVIS) kit is designed to enhance the short
range communications efficiency of the Barrett 912 Multi-Wire Broadband Dipole Antenna
System

The NVIS kit comprises a high quality stainless steel open wire feeder assembly allowing the
antennas matching balun to be mounted close to ground. With the Barrett 912 antenna
installed in the horizontal configuration, between two masts, higher take off angles and
radiation efficiency are achieved, improving communications paths over the range 20 - 500
km, particularly in hilly and mountainous terrain.

The BCA91202 NVIS kit can be quickly and easily installed without the need for any special
tools

1
4 )

[ W L L L L W A W W W A W g

scmMo1202 miii———onrn——m—0—0—0—0—0—0——0—0—0—0—0—0—0—0—0—0—m—mnnne



BARRETT 2050
Advanced HF SSB Transceiver

19" Rack Mount Kit 2RU BCA20007

Part No Description Quantity Part No Description Quantity
MW-08095 Handle D Chrome 76mm NB-04608 Screw M3x6mm CSK
MW-20062 Plate 2000 Rack Base NB-04616 Screw M4X8 Pan 1A
MW-20063 Plates Side 2000 Rack NB-04629 Nut M6 Cage

MW-20064 Mount Support 2000 Rack NB-14675 Screw M4X6 Pan 1A
MW-20065 Plates Support 2000 Rack NB-14676 Screw M4X10 Pan 1A
MW-20066 Brace 2000 Rack Base NB-14696 Screw M3X6 Csk Pozi
MW-20067 2000 2RU 2U F/Panel PW-20060 Cradle Locking Set L&R
NB-00006 = Washer M6 Nylon white PW-20061  Washer 2000 Cradle
NB-04598 Screw M6X16 PH ZP Pozi PW-20069 Capstan 2000 Series Rack
NB-04605  Screw M3X5 SS Pan 1A

OO0 =2 a NN
OOoONOOADMOOEAN

Complete rack mount kit

Assembly instructions

Fasten left and right grey
plastic cradle locks to the
left and right side plates
with the screws and plastic
capstans shown.

Fasten completed left and
right cradle locking
assemblies to the rack
base.

BCM20007/1




Fasten plate slides to the
outside of the base plate on
the left and right sides.

Fasten left and
right grey plastic
cradle locks to the
left and right side
of the base plate.

Slide side plates into
plate slides and secure
with two screws for each
side.

,..\.:#' = “_?P-'»’:", Fasten the rack base brace to
@ - @ g™ the front panel as shown. The
> 8 - 2 N third screw is for attachment to
i / A the base plate once the front

panel is secured to the front of
the base plate.

Attach the two "D" handles to
the front of the front panel. Then
attach the completed front panel
to the front of the base plate. Be
sure to add the screw that
secures the front panel brace to
the base plate.

Completed rack mount kit
assembly.

BCM20007/1




BARRETT 2050
Advanced HF SSB Transceiver

BCA20019 Three Unit Side Plate Kit

Qty. | Description Barrett P/N
2 2000 series 3 unit side plates MW-20071
12 Side plate capstans PW-20073

scmM2009/iiv——o-—- - - - - —--————-——oo——"—""-—"-— """+



BARRETT 2050
Advanced HF SSB Transceiver

BCA20004 Installation Kit

Qty. | Description Barrett P/N
2 Large lugs CN-04645
2 Small lugs CN-04646
1 ATC fuse holder with 2 x 25A ATC fuse BCA20021
1 Braided earth lead with lugs fitted SA-20081
12 Cable ties CN-05302
6 Girder clips CN-04500
1 400mm length self amalgamating rubber tape CA-46576
6 Adhesive cable tie mounts CN-05315
4 8x16 Dirill point pan head screws. NB-04501

Can be used to mount mic brackets etc.

10 -16 x 16mm hex head Tek screws
8 Can be used to mount head, main body cradle or | NB-04502
speaker

10 -16 x 25mm hex head Tek screws
4 Can be used to mount main body cradle NB-04503

12 -14 x 35mm hex head Tek screws

4 Can be used to mount main body cradle NB-04504

1 5/1§ Tek screw driver to insert Tek screws using TL-20072
a drill

1 Philips head driver to insert Philips screws using TL-20073

a drill

BCM 20004/ st



BARRETT 2050
Advanced HF SSB Transceiver

BCA20016 Two Unit Side Plate Kit

Qty. | Description Barrett P/N
2 2000 series 2 unit side plates MW-20070
8 Side plate capstans PW-20073

BCM20016/1 —m™—m—msm—m—es, —_—,



